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are NOT considered surface water. *
Y ALY STl ALY AT AT &1 ARM A
1.)akes
Vﬁqm«m, groundwater ——Not surface water
. Rivers
4. Oceans
L
it
4. TR

Water: 71% Land: 29%

97.2% (salt water) 2.8% (freshwater)

|

- 68.7%: Glaciers/Ice caps
- 30.1%: Groundwater
- 12%: Surface water

98 m/s?
Identify the cafrect statement about gravity.
¥ s 7 TN Numerical of Motion in straight line: The ‘UTSAV’ Concept
e e - A 3 equations of motions
4.The unit of g is the same as that of friction. 1v=u+at L )
et ] . Horizontal motion - = initial velocity
§Zigg-m§;§mﬁ§m 2.s=ut 0_19? “t=time
a.gdrgETs FAT 2 L
A - 8 = distance .
-V-u=2as - a = acceleration
(a=-9) - v = final velocity
Against the gravity
-v=u-gt
“h=ut-1gt*
2
=’ -2gh

‘Done by Detritivores

Which of the following can degrade detritus into simpler inorganic

substances? Are 3aprophyt63

@ & ¥ #iF 71 g A W IFEfEs get F R &
wwar §7

1. Lichens 1. TEHA

. Algae 2. dfarer

/ Fungal enzymes 3 tarer Gamea
4. Phytoplankton 4. BIEICHIHET

Autotrophs Rhizopus/Bread mould ——Spore formation (Asexual reproduction)



When the grains of sand are very fine and light, the wind can carry it over very
D long distances. When such sand is deposited in large areas, it is called
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1 stacks—.S€4 WAVES
loess
3. moraines

a.mushroom 1Ok, pedestal rock, 2eugen, pediplain —s> Erosional lamdforms

Others: Burchans, seif

2523
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‘?@ Wind Direction - Ll \

Longitudinal

~== Wind Direction

Transverse

Landforms

/o

Erosional ‘Depositional

12 T

‘Hanging valley  -Eskar, Drumlin, Morains
‘Aréte

*Horn—————=> Erosional

-
Which of the following sets of statements are correct about Inter Tropical Convergence Zone
ez
TR TNF Feaord e (AEARE) & W F FfaRa # ¥ o @ Fuw 7@
a. The ITCZ is a broad trough of low pressure in equatorial latitudes.
b. This is where the northeast and the southeast trade winds converge.
X The TCZs the equatoraltrough normally positioned about ' of the equator and femain
there throughout the year.
d. The ITCZ moves over to the plane of Ganga in Summer.
a. ez sty s F e e @ o ¥
b. T W sR-7¢ IR FfRor-qE =R g Ll
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Equater

d. ImEdRietE ST F s & a9 W oger S 8l

1.0nlyaandc 2.3,bandc_ 3.0nlybandc v{,bandd

aateyasase
-The position of [TCZ varies seasonally in
response to the Sun’s movement, it
moves North in the Northern
Hemisphere summer and South in
Northern Hemisphere winter
- It is responsible for wet and dry seasons
in the tropics

It is not a static 2one but keeps
shifting north and South of the
equator. It is a zone where the trade
winds of northern and Southern
hemisphere come together
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The drainage system formed when rivers discharge their waters from all

c;"ed ina I.ake or depression, as in the case of Loktak Lake in Manipur, is -|n Kmbu' La"y‘ao Naﬁona| 'Park

e e Wt Reamait & sra wreht R gfter a srerere  wvgeh & ot @ Famous for state animal-> Sanghai deer
TR S IS T World's only Floating NP

. radial

VW centripetal —7_=nm—>oppos.fe of radial -Phumdis is seen here

3. dendritic

4, trellis:

¥——>The River flow parallelly and are joined by

Shown by Amarkantak river other small tributaries at 90°

Dramage pattems Branch of tree - Mizoram known as: Molassis basin

Central dome/peak

\~"The Harshacharita is written in Sanskrit by

e e @ Forar T ¥ . Other Sanskrit texts
. Harisena 1. g 'F\shfadhgagi: by Panini
o e o s, ‘Arthashastra: by Chanakya

4. Nagasena

*Jambavati Kalyanam: by KDR

‘Wrote: Prayag Prashasti

“Wrote: Ratnavali, Nagananda,
-Court poet of Samudragupta

Priyadarshika
- Also wrote: Kadambari



The Five-Year Plan was the first plan to focus on gender issues,
women empowerment and the growing inequalities amongst the states and
inter-regional disparities.

waadf ateren AR Aeg), Afver wufFawor sk asat &
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1. Third 1. T
VY Fifth 2. wreat
3. Sixth 3. gar

4. Fourth 4. atar

Sth Tive Year Plan ——> Based on D.P. Dhar Model
“Duration: 1974-78 \“‘During Indira Gandhi

Key focus:
1. Removal of poverty (Garibi Hatao) = Targ.ef‘ 4% )
2. Attainment of self reliance o Achieved: 4.8% (a bit successful)

3. Minimum Needs Programme (1974)

« Basic needs to be provided to all
*20 points programme (1975)
4. RRBs were setup (1975)

~
Nauroz is celebrated by which of the following communities in India?

AR s 3 Pt # & e wegerar q@mT #am ST e?

%arsi 1. IRET
2.Jain 2.3
3.sikh 3.

4. Buddhist 4.3y

-Started by Balban
-Put to end by Aurangzeb

New Year Festival of Parsi community
Also known as Pateti festival

After how many days of absence from Parliament without permission will a

¥ TR W HE TG

‘Power given to: Presiding Of ficer

4. 20 days

Days of adjournment and
prorogation not counted

1494: bet Spain and Portugal

nch possessions in India were restored after the Battle of Wandiwash by the Ang'o carnaﬂc Wars

Treaty of signed in the year 1763 between Britain and France.
fiter 3 i & 4 ¥ 1763 # eAERE ¥y gawr atdarer -1st: 1740-48

TETE & G R F I Tt agTer Y 7S |
. -2nd: 1749-54
1. purandar 1. g 7 years war/War of succession

o\ 5 e o 3rd: 1758-63
& 1665: bet Shivaji and Jai Singh | s Battle of Wandiwash in 1760
+1776: bet Britishers and Marathas and won by Britishers
1775: bet Raghunath Rao and .
+1782: Treaty of Salbai after 1st Anglo Maratha

Britishers
War
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B Match the columns.
et & HeT e

Seaport j\ State] €T R

1. Tuticorin Port a.WestBengal 1. GHIRA a2
2. Haldia Port b.TamilNadu ~ 2.FTPEAHCAE b AfdeETg
3. Mangalore Port . Karnataka 3. AR deTE ¢. FeAEH

1.1-c, 2-b, 3-a
2,1-a,2-b, 3-c
Vlbza,ac =
4.1-c,2-3,3-b A iz
5 ! ik oldest port
) > developed by
British in 1870s
y zorn 7‘\;,‘3&;‘
, € iiistuan i, e Haldia Port (West
Tidal port /-E‘ Y e = /7'Bengal)
T ORI s W -
Also known as £ ot e RO g % & _» *Riverine port
Deendayal Port miwo L Copa @ R * Also known as Shyama
Trust .:'.,“'.;T‘“é S 4 Prasad Mookerjee Port
*Also, Nhava Ly S~ > Indid's deepest landlocked
Sheva Port s R oy 1 port
sLargest container port e ‘
(V.0 Chidambnronar Port)
In Zuary river’s \ N
estuary e St rooed
ueen of Arabian Sea
@ s Only state to
have max. major
ports
Ports of India
Major Minor
13 ports 230
/ \; Owned by State Govt.
v
Govt. Owned  Put.
Ownership and management .~ Ennore (Kamrajkar Port)
by Central Govt.
13t PM of Pakistan
B‘In the Interim Government formed on 2 September 1946, Liaquat Ali Khan was
given the charge of:
2 RdeR 1946 Y 1Tda HaRA # foraTeha el &1 &1 waR T arm:
1. the External Affairs Ministry P m .
e e Ministry >Aim: to facilitate this smooth transfer of power
2 gpoctepce iy from Britishers to India
4. the Home Ministry 'B ‘d S'n h
1. et st aldev Singh. yeqd: J L Nehru
2. 9 #AET
3. T Harerd

T Sardar Patel

-Food and Agriculture: Rajendra Prasad

*

ARMA



Breakdown of pyruvate into lactic acid and energy in lack of oxygen takes

¥

ARMA

. place in which of the following? . .
gt Ak ofive # e st st By o Respiration
PrrafaiRa # & e are e
1. Bacteria .
: Neliat:tchnndria Aerobic Anaerohlc
\/:Iuman muscle cells -In presence of .In absence of
Oxygen Oxygen
Absence
ofoxygen -
Ethanol + Carbon dioxide +
Energy ATP synthase particles
(20 inter membrane space
cytoplasm e
Glucose Lactic acid + energy Fibosome
(In muscle cells) (39 Granules
Presence of
6C molecule e
Carbon dioxide + water + energy

cé H’120 6 mnoc:lnondrla

is said to be

o wiw P T A FAY, AT HAT_ wward

1. perfectly inelastic
\/{nelaﬂi:

3. Perfectly elastic

4. Unitary-elastic

Price Elasticity of Demand

\

Value = 1 & infinity
Elastic demand

Value=0& 1
Inelastic demand

Value=0
Perfectly inelastic demand

—
Value = Infinity Value= Unitary
Perfectly elastic demand Unitary elastic
o Relatively Elastic Demand
eg: gold
9 9 ®
Slight change in price result in high change in
demand
%
Q. Qq
>
eq>1

If the price elasticity of demand is less than one, then the demand for the goods

Price Elasticity
Changes in price affect the changes in demand

Usually -ve

¢, = % change in demand
% change in price

o Perfectly Elastic Demand

/, Horizontal

bnagligﬁble/zaro change in price
causes major change in
demand Cinfinite)

Price

‘Demand
€y =0

o Perfectly Inelastic Demand

Price

/,Varﬁcal

___—> Veblen goods

_—> No changes in quantity of
product demanded when the
price changes

Demand
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« Relatively Inelastic Demand ARMA
f Change in price causes relatively
' less change in quantity demand
1
P 1 |
! 1
! 1
[} 1
H !
Qq Q,
e <1

‘Bacterial infections: T'B, UTI, Whooping cough,
Chlamydia, Gonorrhoea and other STls
basic unit of nervous system

What is the length of a bacterial cell?

Sy R s Rrereh Qe 47

% o 'Prokaryo’ric cell Longest cell in our body
Yowsum Neuron Anatomy

. 1t0 40 pm Se—— =
4.30t0 50 um

dendrite

nucleus axon terminal

-Virus: 20-200 nm s
- Human Cell: 10-30 um } 126

o largest cell: Ostrich e99

Scwann cell

o smallest cell: Mycoplasma Cell body i
o Longest cell in human: Cyton Glial cells
Neurons
® Smallest cell in humans: Sperm
cell

o Largest cell in humans: Ovum
mostly missing in Indian soil

Soil Horizons

of the soil?

Which of the following factors of soil formation determines the accumulation
- e fwTor & ot # F Hla-1 w1 fa & Joaa 7 il
AT

f;l\so known as Humus

O - Organic Layer

Humus 9 4 0
A - Topsoil

Minerats with humus A

~ "LE - Elviation Layer
| Leached minerals & organic matter @

1. Fauna

2. pjora
Relief

4. Parent rock 8- Suhsmll

Deposited minerals & metal saits (0

-C - Parent Rock
Partly weathered rock

Factors for the formation of soil:
1 ‘Parent Rock

2. Climate Weathering is an in situ process
3. Time

Soil texture
depends on
Parent Rock

e
Unweathered parent rock

Categories:
Alluvial soil: 40%

Red soil: 18% more imp‘mr
Black soil: 15%

Laterite soil: 4.3%

Desert soil

Montane soil

Marshy/Peaty soil

Alkaline soil

>Study of Soil: Pedology

© NG AW



Elephant grass but Grasslands

Which of the following pair of country — name of grassland is correct?
Frfafaa # @ Fia @1 do-aw & dqm FmAaw I 2
I. Argentina — Pampas

1. Brazil - Steppe,

1. Neither I nor u\> Near Ural mountains
2.0nlynl
\370nly|

4.Bothland Il

Small grass

o but nutritious
not nufrlflo'lji' J \ 7

Known as Big Game country due to

ex

Tropical grasslands  Temperate grasslands
Wheat granaries of the

. Savannah: in Africa 1 'Pmirieswma/?
2. Campos grassland: Brazil . Steppes: Asia/Turope world
3. Llanos grassland: Venezuela 3. Velds: South Africa

2
3
4. Downs: Australia
5
6
7

. Pustaz: Hungary

treme poaching of animals . Canterbury: New Zealand

‘Pampas: Argentina

L,(- A grass

By which of the following process can we separate two miscible liquids?
ﬁwﬁﬁa#ﬂﬁmuﬁrﬂqﬂmaﬂa}ﬁmﬁﬁwaﬁmﬁ

1. Crystallisation——3 1 0 FemMove impurities from alum

. Subli i . "™ .
Wastilaon —— Used when the difference of boiling point
. chromatE=eY pet the two miscible liquid is >25 K

-Two immiscible liquid = Separating funnel
oil in water

Fractional Distillation
“BP<25K
-Eg: Acetone and water

Separation of Components of a Mixture
«Dye from ink—> Evaporation
« Different colours from dye —> Chromatography-»Drug from blood

—->Pigment from natural colour

Colour

« Cream from milk —> Centrifugation sublime
o Mixture of salt and ammonium chloride/naphthalene/anthracene —> Sublimation Csolid to gas)




Which of the following statements is INCORRECT with regard to the Green
Revolution?

e wifa & waw & Prafafae & ¥ #F @ Fy 70 32

v(z was introduced in areas that were rain-fed.

Negatives

2.itwasa n of agricultural modernisati -Ground water level decreased
3. It was targeted mainly at the wheat and rice-growing areas.

4.1t was funded by international ager|cies. . ) o

bt wie{ e Y 9 Alkalinity of soil increased

2. 3% arl

S.E'aﬁﬂwq@wﬂﬂ(’sﬁx I AT 8 &

4. 3 FTET TSRET I o aram am

‘PL-480 variety

SCHEDULES OF INDIAN

CONSTITUTION

42. Match the following Schedules of the
Indian Constitution (List-I) with
their subject matters (List-II) :

List—I List—II
a. Fourth Schedule 1. Forms of Oath SCHEDULEIIRETAL
or Affirmations FIRST | The list of states and union territories with territorial

demarcations
b. Eleventh Schedule 2. Languages
Provisions of the President, Governors of States, Speaker

c. Eighth Schedule 3. Powers of = and the Deputy Speaker of the House of the People and
the Chairman and the Deputy Chairman of the Council

e
7}
m
aQ
o
z
o

=
Panchayats o of States and the Speaker and the Deputy Speaker of the
d. Third Schedule 4. Allocation of % Legislative Assembly and the Chairman and the Deputy
Seats in the = Chairman of the Legislative Council of a State, the
Judges of the Supreme Court and of the High Courts and
Council of % the Comptroller and Auditor-General of Ing
States L THIRD | The Forms of Oaths or Affirmations.
Select the correct answer using the FOURTH | Provisions as to the allocation of seats in the Council of
codes given below.
(A) a b c d FIFTH | Provisions as to the Administration and Control of
1 3 2 4 Scheduled Areas and Scheduled Tribes.
b d SIXTH | Provisions as to the Administration of Tribal Areas in the
a 5 1 States of Assam, Meghalaya, Tripura and Mizoram.
4 3 S| TN
d SEVENTH | The Union list, State list and the concurrent list.
a b ¢ — FLE
© 2 3 4 1 EIGHTH | The list of recognized languages.
D) a b ¢ d NINTH | Provisions as to validation of certain Acts & Regulations.
1 2 4 3 TENTH Provisions as to disqualification on ground of defection.

ELEVENTH | The powers, authority and respon es of
Panchayats.

. x " TWELTH | The powers, authority and responsibilities of
52. Consider the following pairs of Municipalities
scientists and discoveries :

Scientists Discoveries
(i) Copernigus : Law of
gravitation

Laws of

planetary
motion

(ii) Kepler

(il) Galileo Moons of
Jupiter

(iv) Newto: Heliocentric
theory

Select the correctly matched pairs
using the codes given below.

(A) (i) and (i) only
(B) (i), (i) and (iii) only
(C) (i), (ii), (iii) and (iv)

\y{ (ii) and (iii) only

55. Which of the following elements does
sugar contain?

(i) Carbon
(ii) Nitrogen
(i) Hydrogen
(iv) Oxygen

Select the correct answer using the
codes given below.

w/m. (i) and (i) only
(B) (i), (i) and (iii) only
(©) (i) and (iii) only

(D) (i) and (iv) only

*
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